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gz 2o SMote 222AF
Sl XY B EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
O| 3| At Tt 1,078,121 1,088, 121 A 10,000
=2 NHols 2l F 1,042,321 1,042,321 0
ENA HF 454,780 454,780 0
oy g2Jls Zst 173,000 173,000 0
201 Let24E] 173,000 173,000 0
01 AFR2telHl 173,000 173,000 0
OXZXE 0l88 25 g2 112,000 100,000 12,000
OHM8ll 23 sE2sZ4 MHE S 10,000 22,000 A 12,000
Y 2HAH (S AR ) 35,800 45,800 A 10,000
Jl= &l 28,880 38,880 A 10,000
S| MEW Jl=ZHl 28,880 38,880 A 10,000
202 Oddl 12,680 22,680 A 10,000
01 = LH 4 Hi 12,680 22,680 A 10,000
OZSH 0ol &t 12,680 22,680 A 10,000
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